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Answer all questions, .

All questions carry equal marks,

Only one answer is to be given for each question,

If more than one answers are marked, it would be treated as

Wrong answer.

5. Each question has four alternative *responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using BLUE
BALL POINT PEN,

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully with blue
ball point pen only.

7. 1/3 part of the mark(s) of each question will be
deducted for each wrong answer. A wrong answer means
an incorrect answer or more than one answers for any
question. Leaving all the relevant circles or bubbles of any
question blank will not be considered as Wrong answer,

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Version of the
question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.LR. would be lodged

against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently

from all future examinations,
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The example of 2D structure among
the following is

(1) Fullerene
(2) Diamond
(3) Carbon nano tube
(4) Graphene

Carbon atom in carbon nano tubes are
(1) sp hybridised

(2) sp? hybridised

(3) sp? hybridised

(4) sp*d hybridised

‘The ratio which decides the efficiency

of nano substance is
(1) Weight/volume
(2) Surface area/volume
3) Volume/weight

(4) Pressure/volume

The nano material used for cutting
tools is

(1) Fullerene

2) Aefogel

(3) Tungsten carbide
(4) Gold

Doped fullerenes become
(1) Ferromagnetic

(2) Paramagnetic

(3) Diamagnetic

(4) Super-conductor
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Which one among the following is not
a Green Solvent ?

(1) Liquid Carbon dioxide (super
critical CO,)

(2) Liquid Ammonia

(3) Ionic Liquids

(4) Water

The technique by which internal
structure of a specimen can be
observed is

(1) STM
(2) TEM
(3) AFM
(4) All of these

Secondary Precursors of
Photochemical smog is

(1) PAN
(2) NO,
(3) SO,
(4) Hydrocarbon

Photochemical smog normally does
not contain

(1) Chlorofluorocarbons
(2) PAN

(3) Ozone

(4) Acrolein

Zirconia is a hard brittle
(1) Metal

(2) Non-metal

(3) Rubber

(4) Ceramic
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15.

Y[ 911 %1 BOD ®R &

(I) <5ppm

(2) <15ppm

(3) >15ppm

(4) >17 ppm
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(1) Co

) SO,

(3) co,

(4) NO,
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(1) 0.5 ppm
(2) 0.2 ppm
(3) 3.0 ppm
(4) 0.005 ppm

| 11.

12.

13.

14.

BOD level of clean water is
(1) <5ppm

(2) <15ppm

(3) > 15 ppm

(4) >17 ppm

The disease caused due to excess of
nitrate in drinking water is
(1) Methemoglobinemia
(2) Mottling of teeth

(3) Beri-Beri

(4) Rickets

Select the incorrect statement about
depletion of Ozone layer.

(1) It oceurs in stratosphere.
(2)
3)

CFCs are mainly responsible for it.

It takes place through free radical
mechanism,

4)

It is only the reason of global
warming,

The gas which reacts with
Haemoglobin by displacing oxygen is

(1) co
) SO,
(3) co,
4 No,

Maximum prescribed concentration of
Cadmium in drinking water is

(1) 0.5ppm
(2) 0.2 ppm
(3) 3.0 ppm
(4) 0.005 ppm
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() 59CO,

(3) NO,
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17.

18.

Which of the following is not a Green-
house gas ?

(1) €O,
@) O,
(3) CH,
4) CO

The substance used in dry cleaning to
control environmental pollution is

(1) SO,
(2) Liquid CO,
(3) NO,

(4) Tetrachloroethene

The ITUPAC name of vanillin is

(1) 2 — Hydroxy — 4 — methoxy
benzaldehyde

(2) 4 — Hydroxy - 3 — methoxy
benzaldehyde

(3) 2 — Hydroxy — 3 — methoxy
benzaldehyde

(4) 3 — Hydroxy — 5 — methoxy

benzaldehyde

The marble of Taj Mahal is getting
discoloured and lustreless due to

(1) Global warming
(2) Acid rain
(3) Ozone layer depletion

(4) Fog
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23.

i 1 IUPAC T @
(1) 1,3 —Sr=isiy

(2) 1,2 - S0

(3) 1,4 -zt

4 1,3, 5 -0

Rrp m CHs 41 1upac

TR -

(1) 3-AfUe T [4.5) 3%1-1, 6-27237
(2) 2-8f%e TR [4.5] IJF1-1, 6-27287
(3) 6-AR TR [4.5] IH1-1, 6-z7287
(4) S-Aferet T [4.5] 2H1-1, 6-2728q
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CH3~g—CH2—CH2—g—OH
(1) 1, 4 - SRR
(2) 1 - w3 - iy
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At > %1 IUPAC T
(1) R [2.4] ¥2T-5, 7-8887

(2) HTEY [2.4] F<I-1, 3-3188T
(3) U [2.4] ¥4, 6317
(4) TS [2.4] B2, 6-2158T
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20.

21.

22,

23.

IUPAC name of pyrimidine is
(1) 1, 3-Diazine

(2) 1, 2-Diazine

(3) 1, 4-Diazine

(4) 1,3, 5-Triazine

The TUPAC name of the compound

CH; is

(1) 3-methyl spiro [4.5] deca-1,
6-diene

(2) 2-methyl spiro [4.5] deca-1,
6-diene

(3) 6-methyl spiro  [4.5] deca-1,
6-diene

(4) S-methyl spiro [4.5] deca-1,
6-diene

The correct IUPAC name for the

-compound given below is

O
I |
CH; - C-CH,-CH,-C-0OH
(1) 1, 4-dioxopentanol
(2) 1-carboxybutan — 3 — one
(3) 1-hydroxypentane — 1, 4 — dione

4) 4- oxopentanoic acid

The IUPAC name of the compound
is

(1) spiro [2.4] hepta-5, 7-diene
(2)
(3) spiro [2.4] hepta-4, 6-diene
(4) spiro [2.4] hepta-2, 6-diene

spiro [2.4] hepta-1, 3-diene
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COOH

Br—4—H

HOOC———Br
H

(1) (@R, 3R) - 2, 3-SR,
4- 23T 3T

2) (2S, 3S) — 2, 3-THEFHA-1, 4-
SrS3tTeeh TR

(3) (2R, 3S) - 2, 3-SHSHIAL-1, 4-
SECIEE R

(4) T A HIE T

OH
25. Aifires WAOW
0]

[UPACT® ®

(1) 5-TRIe-1-gTEgei-3RA-1, 4-SRARH

3

) 2-wrEERe-3- 3R HiEH
() 5-ufe-4- - FaAEH A
(4) 3-(3-3Faet HreiieT) TR 3T

0
26. AH @/ %1 IUPAC 7™ 8
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(1) STgagel [2:2:1] §LA-2-311
(2) e [3:2:1] §LA-2-3TH
(3) SrgETERAl [1-12] §LA-2-31
(4) STEETEEAL [2:2:0] §A-2-3TH

25.

l 24. The TUPAC name of the compound

given below is :

COOH

Br H

HOOC——Br
H

(1) (2R, 3R) -2, 3-dibromobutane-1,

4-dioic acid

(2) (2S, 35) -2, 3-dibr0mobutane-1,

4-dioic acid

(3) (2R, 3S) -2, 3-dibromobutane-1,

4-dioic acid

None of these

4

The IUPAC name of the compound

Wis
O 0

5-Ethyl-1-hydroxyoctan-1,
4-dioic acid

(2) 2-Carboxyethyl-3-hexyl ketone
(3)

4

5-Ethyl-4-Keto-octanoic acid

3-(3-Hexyl Carbonyl) propanoic
acid

The IUPAC name of compound

(0]
@is

(1) Bicyclo [2:2:1] heptan-2-one
(2) Bicyclo [3-2-1] heptan-2-one
(3) Bicyclo [1-1-2] heptan-2-one
(4) Bicyclo [2-2-0] heptan-2-one
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29.

i

Br CH3

| |
CH; ~CH- CH= CH ~CH - CH, -

COOC,H; %1 IUPAC 71 &

(1) TR -2 —smi- 5 - Aty — 3 -
g

(2) T -3 - -2 - AT — 4 -
T

() TRIT -2 -5 - 3 - Arer— 4 -
g

(4) T — 6 -5 — 3 — AT _ 4 -
FEHITE

HEATTr e T et} TTedeiTeT 2

(1) HTgaFSI

(2) WA

(3) HrEFRA=A

ORCIEESIEEET)

zﬁﬁm(}amumcw%

(1) TSR [4-1.0] 3
(2) TR [2-1:0] 3R
(3) TEETERAl [2-2:0] BA
(4) STEETEHR [1-2-0] 77

27.

28.

The TUPAC name of the compound

D
CH, - CH~CH=CH~-CH - CH, - COOCH,

is

Ethyl - 2 — bromo — 5 — methyl —
3 - heptenoate

(1)

(2) Ethyl — 3 — bromo — 2 — methyl —

4 - heptenoate

(3) Ethyl —2 — bromo - 3 — methyl —
4 - heptenoate

Ethyl — 6 — bromo — 3 — methyl —
4 - heptenoate

@

Cycloalkane having maximum ring
strain is

(1

(2) Cyclobutane

Cyclopropane
(3) Cyclopentane

(4) Cyclohexane

The TUPAC name of the compound

(P

(1) Bicyclo [4-1-0] heptane
(2) Bicyclo [2-1-0] heptane
(3) Bicyclo [2-2-0] heptane
(4) Bicyclo [1-2-0] heptane
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(2) whafsrarsdt

(3) aruferfarsh) fifer TmmeEt

(4) TR

1COOH
H——z--——Br
fyferfaa gt g—3l— ¢y %
4
CH;
F1d C-2, C-3 T Fm: R-S Tha 8 :
(1) 2S,2R
) 2S,3R
(3) 3S,2R
(4) 38,3R

i guredaar SeRla & amen
Afires B

CI-CH,\ ,CH;

(1)
H/ \CH=C(CHy),

% CH;\ ,H
cl—CH,”/ \CH=C(CHy),

CH,=CH. ,CH,-CI
3) \C/ 2
H/ \CH=CH,

(4) CH,—CH,-CH=CH-CH,—CH,

30.

31.

32.

Achiral  compound the

following is

(1) 1-chloropentane

(2) 2-chloropentane

(3) 1-chloro-2-methyl pentane
(4) 3-chloro-2-methyl pentane

among

Mesotartric acid and d-tartric acid are
(1) Position Isomers

(2) Enantiomers

(3) Diastereomers

(4) Anomers

The R-S notation to Chiral carbon C-2,
C-3 respectively in the following
structure is

1COOH
H—2—Br
H—34—cI
4
CH;
(1) 2S,2R
(2) 28,3R
(3) 38,2R
(4) 3S,3R

The compound exhibiting Geometrical
isomerism is

Cl-CH, \_/ CH,4
(D N
H CH = C(CH,),

& CH;\ ,H
ci-cH,”/ \CH=C(CH,),

CH2:CH \ /CHZ—CI
3) C
H/ \CH=CH,
(4) CH,-CH,-CH=CH- CH,—-CH,



34.

35.

36.

3%

-5 T Fatferss wref} deger ' |
(1) wfRra |

(2) W

(3) Yofa: ot

(4) T wu /gl W
frerfereaa & & s-fmma arem A 2 -

CH,

(1) H OH

Br
OH

) Br+ CH,

H
CH,

(3) Br ‘f‘ OH

H
CH,

4) HO+ Br

H

M0 A CH,, Tt Tedpd % foma
fora HemTens aue g 2 2

(1) 5

(2) 6

3) 8 ' l
4 9 |

CHN enfoss @3 @t i

4 3,0,1

34,

35.

36.

Most stable conformation of n-butane
is

(1) Eclipsed

(2) Gauche

(3) Fully Eclipsed

(4) Anti form/Fully staggered

The compound among the following
having s-configuration is

3
(1) H‘}—OH
r
OH

B

@ Br+ CH,
H
CH,

3) Br+ OH

H
CHj,

4) HO"‘ Br

H

How many constitutional isomers are
possible for the alkane having
molecular formula CeH,,?

(1) 5

(2) 6

(3) 8

@ 9

The number of primary, secondary and
tertiary amines possible with the
molecular formula C3HgN respectively is
(1) 1,2,2
2 1,2,1
3 2,1,1
4) 3,0,1
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(1) CH,-C-H

0]

&
0
CHj;
G) fb/

O

|
(4) (CH,),C-C-H

P 3 & s i Afm 2 | 39

COOH

) @ @ ¢OOH
OCH;
COOH COOH
(3) @ 4)
CH; NO,

Prferfea 3 & ‘B’ g@ERE! 8

F H
\C=C/
cl/ \ Br
H,C CH,
@ >C'C<
H H
H,C C.H
SN &
u/
HOOC
hYe

u’

(1

I

(3)
\ CH(CH,),

COOH

@ i

38.

The Aldol condensation is not given
by
0]

I
(1) CH,-C-H

0O

Je
0
CH;
e

1
(4) (CH,),C-C-H

Most acidic compound among the
following is

COOH
M E:] @ §OoH
OCH;
COOH COOH
3) @ (4)
CH, NO,

The ‘E’ isomer among the following is

F H
RN /
(1) C=C
CI/ \Br
HC\ ,CH;
) c=C
H/ \H

HC\.  /GHs

3) c=
g/ \CH(CHy),
HOOC COOH
@) Ne=c’/
w/ T \m
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43.
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(1) Frefe-armes

(2) s
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(1) ¥

(2) WAR
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(1) sp? Il
@ s |
(3) sp :
(4) sp’d |

41.

42,

43.

The mechanism involved in Pyrolysis
of alkane is

(1) Free radical substitution
(2) Free radical addition
(3) Nucleophilic substitution

(4) Nucleophilic addition

Chlorobenzene reacts with
Na - NH, - NI—{3 to form aniline. The

mechanism involved in the reaction is
(1) Elimination - addition

(2) Substitution

(3) Addition

(4) Free radical substitution

Least reactive compound  with
nucleophile among the following is

(1) Methanal
(2) Propanone
(3) 3-Pentanone

(4) 2-Pentanone

The hybridised state of carbon in
singlet carbene is

(1) sp?
2) sp?
(3) sp

(4) spd
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frfafga g qorl & TR @6

HCATHAR ;

(1) feeas e > geftaes Wfeshe >
Wferet > sfve

(2) s Wewa > e Wewat >
e > sfve

(3) sfre > Werat > Tl Aewar >
fedftaes Ufesrat B

(4) W > e > fadios Uewat >
qeftares Ufeshed

Freaferfaa difiept 1 376 wed gT 3

ged # srafem S -

() A |

(i) p - TEEEHTA

(iii) m - ShTETA

(iv) p - shrETet

(1) (i) > (i) > (iv) > (1)

(2) (ii) > (iii) > (i) > (iv)

(3) (i) > (i) > (iv) > (iii)

@) (iii) > (iv) > (i) > (i)

FFiT Smee, wiaw, @ e |
sfifrr # W aen seEE, |
R e R }
(1) et | |
(2) T " ;
(3) ISR 3T |

l

(4) IHHTH

The decreasing order of stability of
free radicals among the following is’

(1) sec alkyl > tert alkyl > allyl >
benzyl

(2) tert alkyl > sec alkyl > allyl >
benzyl

(3) Benzyl > allyl > tert alkyl > sec
alkyl

(4) Allyl > benzyl > sec alkyl > tert
alkyl

Arrange the following compounds in
decreasing order of their acidic
strength :

(i) Phenol

(ii) p-nitrophenol

(iii) m-cresol

(iv) p-cresol

(1) (i) > (i) > (iv) > ()

(2) (i) > (iii) > (i) > (iv).

(3) (ii) > (i) > (iv) > (iii)

(4) (iii) > (iv) > (i) > ()

A neutral, electron  deficient,

monovalent  species formed as
intermediate in Hofmann bromamide,

. Curtius and Schmidt reaction is

(1) Carbene
(2) Nitrine
(3) Carbonium ion

(4) Free radical



48.

49,

50.

31.
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(2) fafem arfirfspan
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IR PR e § W A
rffsran aeaadi 2

(1) FEIEH 3

(2) e

(3) e

(4) Wrsfiq
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(2) U qua

(3) FASH HETT
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(1) F

(2) OH"
(3) CH;
(4) NH,

14

48.

49,

50.

51.

The above reaction is

(1) Baeyer-Villiger oxidation

(2) Wittig reaction

(3) Perkin condensation

(4) Aldol condensation

The reaction intermediate formed in
Wagner-Meerwein rearrangement is
(1) Carbonium ion

(2) Carbanion

(3) Nitrine

(4) Carbene

When Phenylacetate is heated with
AICl; it form ortho and parahydroxy

acetophenone.

This reaction is known as
(1) Fries Rearrangement
(2) Perkin condensatoin
(3) Claisen condensation
(4) Wittig reaction

The ion among the following having
highest nucleophilicity is
O .

(2) OH

(3) CH;

(4) NH,

03



52.

33,

54.

55.

03

8 i S HFrT srffsRen ar @
(1) CH,-CHO

(2) CH;-CHO

(3) (CH,), C—CHO

(4) CH,-CH,~-CHO

d5ie "o H s amen St
et 2

(1) R

(2) FEE

(3) IEIEH S !
(4) T |

fpmewh sfifra & s aren g
3G &

(1) o — BTEgE T

(2) B - TRl T

(3) o - p e MTH

) y- T T

|
!
e T S S & |
(1) o srfufsran }
2) e s st |
3) et srfufima %
(4) fafen afirfsman I
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S2.

53.

54.

55.

The compound  which  gives .

Cannizzaro’s reaction is
(1) CH;-CHO

(2) C¢Hs—-CHO

(3) (CH,);C-CHO
(4) CH;-CH,-CHO

The reaction intermediate formed in
Benzoin condensation is

(1) Free radicals -
(2) Carbanion
(3) Carbonium ion

(4) Carbene

The major product formed in

Reformatsky reaction is

(1) o —Hydroxy ester

(2) B - Hydroxy ester

(3) o — B unsaturated compound

(4) y-— Hydroxy ester

The reaction in which sterically
hindered primary aromatic amines are
prepared is

(1) Schmidt reaction
(2) Gabriel Phthalimide reaction
(3) Ritter reaction

(4) Wittig reaction



56. afeh arfirfimen & s o g s 2
(1) o - P TG T&X
(2) B - ETsgIRAT TRX
(3) a,p - g
4 o, p - Eqa Ufeearss

57. Tempia-framee @i § a

e YffoRaT Aegedt &
(1) rEif—m 3
(2) FERfEE

(3) e

(4) =ria

58. wafH IFgATE St aren v T

e 2

(1) ®&A
(2) foxie
(3) femifem
(4) FRIER

59. ster CERd
(1) C4H;CH(OH) COC,H;
(2) CgH,CH(CHO) COC (H,
(3) C4H;CO-COCH,
(4) CgHs—CH - (]SH ~ CgHs

I
OH OH

56.

§7.

58.

Major product formed in Perkin

reaction is

(1) o~ B Hydroxy ester

(2) B -Hydroxy ester

(3) o, B — Unsaturated acids

(4) o, B — Unsaturated aldehyde

The intermediate formed in
Pinacol-Pinacolone rearrangement is

(1) Carbonium ion
(2) Carbanion
(3) Nitrine

(4) Carbene

Heterocyclic compound
highest resonance energy is

having

(1) Furan
(2) Pyrrole
(3) Quinoline

(4) Thiophene

The formula of Benzoin is

(1) C4H,CH(OH)COC H,

(2) C4H;CH(CHO)COCH,
(3) C4H{CO - COCH,

@ CoHs— (IJH - (|:H o R

OH OH

03



60.

61.

62.

63.

03

fafedia 1 iR wiereenes g &
(1) p-Teufa
) o-f=f

(3) NYWEI
(4) ot oft fRAf W

3USTeT 1 ARG A T I BT &
(1) 2,3 - STEUHRI g
Q) 2,4 - TR RS
(3) 2,4 - TEEEGIS

(4) 2,3 - STEETERIEUST

?ﬂﬁlﬁaﬁrgi) gﬁﬁﬂﬁ lmax <l
wH g

(1) 240 nm
(2) 286 nm
(3) 234nm
(4) 250 nm

frefefiaa ® ¥ yacaq &R e
(1) fuffdm
(2) ftEH

3) 9=
(4) &
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60.

61.

62.

63.

Nucleophilic substitution in pyridine
occurs at

(1) B position
(2) o position
(3) Natom

(4) Atany position

Indole on mercuration gives

(1) 2, 3-Diacetoxymercuriindole
(2) 2, 4-Diacetoxymercuriindole
(3) 2, 4-Dihydroindole

(4) 2, 3-Dihydroindole

CH; _
A for the compound is

(1) 240 nm
(2) 286 nm
(3) 234nm
(4) 250 nm

The strongest Dbase
following is

among the

(1) Pyrimidine
(2) Pyridine
(3) Purine

(4) Pyrrole

&



64.

65.

66.

67.

F9eAi T Na|C,H,0H r sufeufy #
T HTA TR §aT B

(1) Zgfem

(2) IwIfeH

(3) 1, 4-srfeH

4) 1,3 -sHfH

Na,Cr,0,|H,S0, %! 3ufeufa # Vel
T STTFIEHT0T HT T 7T 8

(1) 9 - writietsrfa

(2) 9 - UEfteTadiereia

(3) 9, 10 — WSmfERHN

(4) 9 - FrETEECIHE

fRRifeR #1 s KMno, % @
STRTRT0T S TR 3o Seare e &
(1) femfefes s

(2) femfefm amer

(3) femfirs amt

4) frepifafes s

Afafeeia @y NMR e (daa)
i g 8

() 1

(2) 2

3) 3

4) 4

M Tk 4 i e e AT P LA i o TR T v
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64.

65.

66.

Naphthalene on reduction in presence
of Na|C,H,OH forms

(1) Tetralene
(2) Decalene
(3) 1, 4-Dialin

(4) 1, 3-Dialin

Anthracene on oxidation in presence
of Na,Cr,0,|H,S0, forms

(1) 9-Formylanthracene

(2) 9-Acetoxyanthracene

(3) 9, 10-Anthraquinone

(4) 9-Carboxyanthracene

End product on oxidation of Quinoline
with acidic KMnO, forms

(1) Quinolinic acid
(2) Nicotinic acid
(3) Cinnamic acid

(4) Picolinic acid

Number of NMR signals obtained
from Mesitylene is

M1
() 2
@) 3

“4) 4
03



68.

69.

70.

71.

03

Tg &TTh1 3 I 1 <A HIT :
(1) H,OH , H,0
) H,SCN,CO
(3) NO;, 17, POy

(4) NH,, CN', R-NH,

a st 3 & urg foerem & i@ @

1 HRIT &

(1) srfiRa v i sufefa

(2) IR gerde < Iafeufa

(3) ffRa umE @ IERRe
TR Sl <l SafRfa

(4) d-d FEHA

g IR AU g W Bl Felid
Tl = &

(1) Cu?*,OH

(2) Au*, CO

(3) Ag',NH,

(4) Pb*,F

FEaH 391 STeTl SR 8
(1) con
Q) t>c
3) no>n

(4) o>

|

68.

69.

70.

Select the pair of soft bases.
(1) H,OH,H,0

(2) H,SCN', CO

3) NO;,1,POy;

(4) NH,,CN,R-NH,

The reason for blue colour of alkali
metal solution in liquid ammonia is

)
()
(3)

Presence of ammoniated cation
Presence of ammoniated electrons

Presence of both ammoniated
cation and ammoniated electrons

d-d transitions

(C))

The set representing soft acid and soft
base is

(1) Cu?*, OH
2) Aut, CO

(3) Ag',NH,

(4) Pb*,F

The transition having highest energy is
(1) o>
2 n—>oc
3 non

4) c—>c



72,

73.

74.

T,

HeH ST G Sy 8
(1) CH;

(2) NH;

(3) OH~

4) F

TH & g 2
(1) S, -8,
(2) T, =S8,
3) T,>T,

4) S,—S,

TH-TEEE AR § 3= st
TR T HRT 2

(1) afsraor ot § st

(2) wug H 3= amgf

(3) urvd arfvferer o swpr S

(4) HH TSB! T T

frfafea & & &9 @1 gw o T
27

(1) CHj

) so,

(3) SF,

(4) NH,

TS e Tt St s Tdeintt . oS PARSESA. Smrieet rms

20

72.

73.

74.

The most basic species is
(1) CH;
(2) NH,
(3) OH~

4 F

The decay takes in phosph;)rescence is
(1) §; -5,
2 T,- So
3) T,>T,
4 S,—>5,

High quantum yield of photo-chemical
reaction are due to

(1) Lowering of activation energy
(2)- High frequency of collision
(3) Accompanying side reaction

(4) Formation of free radicals

Which of the followings is not Lewis
acid ?

(1) CH;
() SO,

(3) SF,

(4) NH,

03



76.

77.

78.

03

sfufrn & a1 W e e

K = Ae"E/RT gry = foharm s 8 | 39

T A ER

(1) 98 S fgs T aft FueE A
Tt 319] TSR hLd 7 |

2) 98 S e A9 wft guee w9
a1t 37] aafufsre T |

(3) T a9 W FlHaT W 91 T0AT
61 o HAl |

@) sifpan & afro Set @ i
Tt WE I T3 T 3 |

THT IBIT T ISR &

(1) CHyg* H2<g)"‘_’ CHee)

V,0s5
(2) 280y + Oyyy == 2805,

Au
3) 2CH30H(g) * 02{g) —

2HCHO,, + 2H,0(,
(4) CH,COOH, + C,CH,OH

Conc
HZSO4CH COOC HS(!) + I—I:2 »

HTEhiora Tee aTfifsRan 8
K, [E], [S]
) Y=Km+[S]

K, [E,]
(2) v= [S]

K, [E], [S]
® Y="Km

K2 [E]

@) y=

76.

77.

| 78.

Rate of reaction can be expressed by
Arrhenius equation as K = AeFRT,

In the equation E represent

(1) The energy above which all the
colliding molecules will react.

(2) The energy below which all the
colliding molecules will not react.

(3) The total energy of the reacting
molecule at a temperature T.

(4) The fraction of molecules with
energy greater the activation
energy of the reaction.

The example of Homogenous catalysis
is

Ni
(1) iy +Hyy——> Cotlg

2
(2) 250y * Oy~22 2503,

Au
3) 2CH3OH(g} + Oz(g) —_—

- 2HCHO, + 2H,0,
(4) CH,COOH, + C,CH;OH

Conc
HZSO4CH COOC HS(I} +H O(!)

Michaelis-Menten equation is

K, [E], [S]
D Y=Km+[S]

[E,]
@ =25

K, [E], [S]
) Y="Km
K, [E]

4 v=



79.

80.

81.

82.

NaC/, KBr @21 KC/ % fore diwr #ier
I A, AN 126, 152 AT 150
S cm?mol™' & | NaBr & feTT A 8

(1) 128 S cm?mol™!

(2) 176 S cm?mol™!

(3) 278 S cm?mol!

(4) 302 S cm?mol!

o ¥ F fou ame o R
L1V g | Sffkar Zng, + Culf) -
Zné;a} + Cu(s)a’:%ﬂﬁfﬁ[?ﬁﬁ@’ﬁ

(1) —212.27 kJ mol™!
(2) —220.27 kJ mol™!
(3) —425.54 kI mol™!
(4) —228.27 kJ mol!

$97 1 | TIE W BN ool Afiiea 2

(1) OQ(g) -+ 2H20({) +4e” >4 OH_(aq)

2) 2H2(g) = 4OH_(aq) - 4H20{ pt 4e”

2) T OH (5

(4) 30,9+ 6H,0 + 126"~ 12 OH

®) H > H,0, + 1¢

A9 GTgaTt A, B 91 C % W saiagie
fava smer: +0.5V, -3.0V @1 -1.2 V
g |

T YT ShT STT=T &I B

(1) B>C>A

(2) A>B>C

(3) C>B>A

(4 A>C>B

TR A RS TEARS . bttt Sty RS TRAM S i i e T

22

79.

80.

81.

The Limiting molar conductivities A,
for NaC/, KBr and KC/ is 126, 152
and 150 S cm®mol™! respectively. A,
for NaBr is

(1) 128 S cm?mol-!

(2) 176 S cm?mol™!

(3) 278 S cm?mol™!

(4) 302 S cm?mol!

The standard electrode potential for
Daniell cell is 1.1 V. The standard
Gibb’s energy for the reaction

2+

Zny + Cuyg)

- Zn(z;c'[) +Cuyy is
(1) —212.27 kJ mol™!
(2) —220.27 kJ mol™!
(3) —425.54 kJ mol!
(4) —228.27 kJ mol™!

In fuel cell the reaction occurring at
anode is

(1) Oy +2H,0 +4e™— 4 OH )

2) 2HQ{g}+4OH"(aq)

— H,0

— 4H,0, +4e”

(3) H,,,+OH"

2(g) (aq) )]

(4) 30,4 +6H,0 + 126" 12 OH

+ le”

The standard electrode potential of
three metals A, B and C are +0.5 V,
—3.0 Vand — 1.2 V respectively.

The reducing power of these metals
are

(1) B>C>A
(2) A>B>C
(3) C>B>A
(4) A>C>B

03



83.

84.

85.

86.

03

¥ifes o F pKa auT HIWEA
FTESTTEE & pKb SHA: 3.76 201 3.75
§ | ariifrem wefiee foerm & few pH B

(1) 6.005
(2) 7.005
(3) 14.0
4) 17.51

M
200 Ba(OH), 1 pH 8

(1) 10
) 2
(3) 12
4) 14

frafefea el % 0.1M fae= # pH
& fq agar A R :

(1) NaCN < NaCl <NH,C!

(2) NH,CI<NaCl<NaCN

(3) NaCl<NH,CI <NaCN

(4) NaCl<NaCN <NH,C!

Mg?* 3Tl I Higar sgH W TS
Mg?" /Mg ®1 goiagrs fava

(1) sgaig |

(2) WEAIR

() FEEAR |

(4) vE wgan & R 2 |

|
|
|
|
|
|
|
|
|
!
|
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83.

84,

85.

86.

The pKa of Acetic acid and pKb of
Ammonium hydroxide are 3.76 and
3.75 respectively. The pH of
Ammonium acetate solution is

(1) 6.005
2) 7.005
(3) 14.0
4) 751

M ' ,
pH of 200 Ba(OH), is

(1) 10

(2) 2

(3) 12

4) 14

The increasing order of pH in 0.1 M
solutions of the following salts is

(1) NaCN <NaCl <NH,C!
(2) NH,Cl <NaC/<NaCN
(3) NaCl<NH,CI! <NaCN

(4) NaCl<NaCN <NH,CI

On increasing concentration of Mg”*
ions the electrode potential of the
electrode Mg?*/Mg

(1) increases
(2) decreases
(3) remains constant

(4) first increases then decreases
' o



87.

88.

89.

90.

S TGS 8

(1) Fe,0,xH,0
(2) Fe;0,xH,0
(3) Fe,0,(OH),
(4) FeyO4 (OH),

TG & FegS § QR 710 B H ¢
e dearentt aueenfaes 8
(1) 1)Na

131
@) 5l

60
27C0

3)

@) 167C

foraferRaa ooy dest § @ #99 @
TR w@ (AfSieh mr)) & wwria g ?
(1) 8

2) 10

(3) 12

4) 14

AT SHT T ISR 3
(1) HOCI+ NaOCI
(2) H,CO,+Na,CO,
(3) NH,OH +NH,C!
(4) H,BO, +Na,B,0,

LAY MR sl S EYS. WUM] bttt g TMEAS TS i e T

N
L]

87.

88.

89.

o
=

The formula of Rust is
(1) Fe,O;xH,0
(2) Fe;O,xH,0
(3) Fe,04(0H),

(4) Fe,0, (OH),

The radioactive isotope used to detect

the cracks in metal parts is

2
ﬁNa

131
2) 5l

1)

60
2.,,Co

3)

17
¢C

4)

Which of the following atomic
numbers is corresponding to magic

number ?

1.8
@) 10
3) 12
@) 14

Example of basic buffer is
(1)° HOC! + NaOC!

(2) H,CO; +Na,CO,

(3) NH,OH +NH,C!

(4) H;BO, +Na,B,0,

03



91.

92.

93.

94.

03

frofefad 3§ & S @1 e T
oRITEE TR 3 TSl H TN B E ?
(l) 1311

(2) 21Bi

(3) Fe

(4) %Co

238 %7 31T SRS
(1) 25U
(2) B4Th
(3) 299Bi
(4) 206pb

QTR IcHei | N/P 31aTd
(1) =edrs |

(2) SEATR |

(3) ISR

(4) srafafdd warg |

s eafaee e i 37 o1y 3.8 fed
2 | 3@ g H moEr i Rkt
wﬁmwﬁm-l%a?maqmw
T | '

(1) 127%=

(2) 25.4f

3) 62f&

@ 3.8 e

JEE—————

25

91.

92.

93.

94,

Which of the following radioisotopes

is used to treat thyroid gland ?
(D
)
3)
4

1311
213Bi
59Fe

60Co

Stable end product of 28U is )
(1)
(2)
3)
4)

2351

234Th

209B;

206pp

N/P ratio in Positron emission
(1) Decreases

(2) Increases

(3) Becomes zero

(4) Does not changes

The half life of a radioactive substance

is 3.8 days. Calculate the time at the

th
end of which Tlé' of the substance will

remain undecayed.
(1) 12.7 days

(2) 25.4 days

(3) 62 days

(4) 3.8 days



95.

96.

97.

98.

grsfem Yeaendt e o 3 @
(1) sef
(2) =gH
(3)

(4) a=u

Feefarm Soft <1 it Temft see 8

209, .
(1) B

2) Pb
€)

206
g Pb
4

207
g Pb

Yo i sAffran % fore sty 693
e 2 | 3861 9 e B
(1) 1073 fiFe-!

1
) mﬁrwl
(3) 0.06 fame-!
(4) 6 x 104 et

T IRET & a0y B 3 o o
g et ety 2

56
(1) 3eFe

60
(2) ,,Co

131
(3) 51

(4) {Na

9s.

96.

- 78

Radioactive decay of tritium gives
(1) Proton

(2) Neutron

(3) B particle

(4) o particle

Stable end product of Neptunium

series is

(1) 2B

2) 2pb

(3) *pb

@ 2'Pb

The Half life of a first order reaction is

693 minutes. Its rate constant is

(1) 1073 min™!
2 .L L |
(2) 0.09 min

(3) 0.06 min™!

(4) 6 x 10* min~!

The radioactive isotope used to detect

the obstruction in blood circulation is

56
(1) 3°Fe

60
@) ,,Co

3) 153311

() iNa

03



99, fr=ferfea # Q 98 faemas ELeE K =h1 i 99. The solvent having maximum K, value

100.

101.

102.

03

T G &
(1) H,0

(2) C,H,OH

(3) C¢Hy

(4) CH,COOH

27 °C A9 W AT H M/30 e
TR el BT

(1) 0.0821 STFATSHA

(2) 2.46 IIHTSHA

(3) 0.821 ATFHYSH

(4) 0.041 TFATSH

et & e A oo 9 @
(1) CO,
(2) Ar
3) H,

ERN————EEEEL el B b S

(4) He

27

100.

101.

among the following is
(1) H,0

(2) C,H;OH

(3) CeHg

(4) CH,COOH

The pair of liquids which shows
negative deviation from Raoult’s Law
is

(1) Benzene and toluene
(2) Carbon disulphide and acetone
(3) Chloroform and acetone

(4) Ethanol and acetone

The osmotic pressure of M/30 urea
solution at 27 °C will be

(1) 0.0821 atmosphere
(2) 2.46 atmosphere
(3) 0.821 atmosphere

(4) 0.041 atmosphere

. Least soluble gas in water is

(1) CO,
) Ar
(3) H,
(4) He



103.

104.

105.

1.80 g TN Y 100 ml e H Hera
oot A am 1.2 g Tefifes amt 31 200
ml 5§ Here foere B s o # |
afe T A 91 B % g g9 s
T, Ty 8 AT 7, TT 7y, T EFY gm0

(1) my>mg
2 Ty =Ty
(3) Ty < Ty

4) T, = 2TIIB

T 3Ty e & R & 7Toid %Y 2
(1) I8 T3 390 7 9T St & |
(2) AH_, =0
(3) AV, =0

) AV, %0

aa%s%qﬁm%w@:w 1.86 °C / Wi
g 1 3afe 1000 7@ # wehU % 342 TW
ferctar &t forer 1 fimies B

(1) -1.86°

(2) 1.86°

(3) -3.92°C

4) 2.42°C

103.

104.

105.

Solution A is prepared by dissolving
1.80 g of Glucose in 100 ml of water
and solution B is prepared by
dissolving 1.2 g of acetic acid in
200 ml of water. If osmotic pressures
of solutions A and B are T, and 7y

respectively, then m, and my are
related as

(1) mp>my
@) m,=my
(@) m,<mg
4) m,=2m,

The incorrect statement about an ideal
solution is

(1) It follows Raoult’s law.
(2) AH_;, =0
(3) AV_.. =0

@ AV, %0

The molal freezing point constant for
water -is 1.86 °C/mole. If 342 g of
sucrose is dissolved'in 1000 g, then the
freezing point of the solution will be
(1) —1.86°

(2) 1.86°. .

(3) =3.92°C

4) 242°C

03



106.

107.

108.

03

FrafeRea # & a8 foems s K, #
T ATHE

(1) EE

(2) wsfi=
(3) HEA SHHHTES
(4) STERPR S

4 g NaOH %! 1000 ml Fie¥ ¥ |
TR T ferm H Adea R R 7

M
(2

€)

8z 3z vz 3z

@

Sie-E% I B Rhes® g saea foma
SR ?

T =1 Sgifcres R
) =" 1 M PR

 forcrm w1 A SR
@) 1= 3= Agie® AMR

T ———— RS el B R S

29

106.

107.

108.

The solvent having minimum K, value
among the following is

(1) Ethanol

(2) Benzene

(3) Carbon disulphide

(4) Diethyl ether

What is normality of a solution

prepared by dissolving 4g of NaOH in
1000 ml of water ?

(1) IN

N
@) 3

(R
p—
alz

o
€
3|z

The Vant Hoff’s factor is expressed by

iy Theoretical molecualr weight of solute
(1) 1="Observed molecular weight of solute

2 i= Observed molecular weight of solute -
(2) = Theoretical molecualr weight of solute

3) i= Theoretical molecualr weight of solvent
() 1="Opserved molecular weight of solvent

4) i= Observed molecular weight of solvent
(4) 1= Theoretical molecualr weight of solvent




109.

110.

111.

112.

FsTferehl % wo fam & forg sores &
(1) AU=q-PdV

(2) AU=AE-W

(3) AU=q+W

(4) AU=q+PdV

HEH TH HEA AHEEES % @ 6
ARt wEw: -393.5 @ 283
kJ mol™! € | ®TeT A eese ¥ R
61 3 Hier Tdedt @ -

(1) —676.5kJ
(2) -576.5kJ
(3) —-110.5kJ
(4) 110.5kJ

et - SeHgieest wfientor &

(1) AG= P[av)

) AG=AH+T(

o))
>
E

)

)
CDQ>

J»
)"

@mm%mmw%

(1) q=0
(2) AV<0
(3) I Il ol T R |

(4) AE o 8t 2 |

3) AG=AH+T(

(%))
<3

|

(4) AG= AE+T(

Q

T —— et s s i e d—
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109.

110.

| 111,

112.

The expression for first law of

thermodynamics is
(1) AU=q-Pdv
(2) AU=AE-W
3) AU=q+W

(4) AU=q+PdV

The enthalpies of combustion of
carbon and carbon monoxide are
—393.5 and —283 kJmol™! respectively.
The enthalpy of formation of carbon
monoxide per mole is

(1) -676.5k]
() -576.5kJ
(3) -110.5kJ
4) 110.5kJ

The Gibbs-Helmholtz’s equation is

(1) AG= P@,\I{J P

(2) AG=AH+ T[Q%@]

QD

- oG
3) AG—AH+T(8T P

(4) AG=AE+T @,\D

The incorrect statement for adiabatic
process is

(1) q=0
(2) AV<0

(3) Internal energy of the system
increases.

(4) AE is negative.
03



113.

114.

115.

03

= <& v arfufrar § AH @1 AE 1
TEY R

CioHg * 1202(g) — 10 Coz(g} +4H,0.
(1) AH> AE

(2) AE>AH

(3) AH=AE

(4) AH=24E

rver e 3 orgee (O )5 P

o (&),
@ (%]V
3) ~[%YT-)P

4 ~[%§] v

it St % w9 3 ;TR
iR

(1) ASSystem >0
@ ASSurrm.mdinlg >0

(3) ASSyste:m 35 ASSurrounding >0 ll

(4) AS 0 |

System e
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113.

114.

115.

For the reaction given below AH and
AE are related as

C,oHgq *+ 12055 = 10 COyp + 4H,0y,

(1) AH> AR
(2) AE>AH
(3) AH=AE

(4) AH=2AE

According Maxwell relationship @%)S

is equal to

» (&)
o (&),
o 8

@ -2,

The condition of spontaneity in term
of entropy change is

(1) ASs.ys.tem >0

(2) ASsurrouncling >0

€) ASsystcm + ASsurri)unl:ling >0
(4) AS <0

system



116.

117.

118.

frforRea & #1 a1 o farefiof o 27
(1) @

(2) <=

(3) IaH

(4) fafre Fea

Tt gofa: oreefia vl t T=0 w
T GH Biet 8 | A8 YT FEATTRE!
% forg frem & gurig & 7

(1) ¥ fram
(2) wuq fm
3) fira fram
(4) g frem

Th WehH o Ta: Jafdd a1 & for firss
el St TR BT TR |

(1) (8G);,P<0
) (8G)p, P>0
3) (8G);,P=0

(4) T A PR T

A Wt s TS . i
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116.

117.

118.

Which of the followings is an

extensive property ?
(1) Temperature
(2) Pressure

(3) Volume

(4) Specific heat

The entropies of all perfectly
crystalline substances are the same at
T = 0. This statement is corresponding

to which law of thermodynamics ?
(1) Zeroth law

(2) First law

(3) Second law

(4) Third law

For a process to be spontaneous

Gibbs’ free energy change should be

(1) (8G),P<0
(2) (8G)y, P>0
(3) (8G)y, P=0

(4) None of these

03



119.

120.

121.

122.

03

Ti, Zr 4o HE % 37TeR &1 W81 69 8
(1) Ti >Zr>Hf
) Hf >Zr>Ti
(3) Hf =Zr>Ti
(4) Hf >Zr=Ti

frafafga § @ few o & Puamors
ST 1 I BT 1 7 weE B
BT ?

(1) Yb

(2) Dy

(3) Eu

4) Ce

wfem @A (Cm*) F FERI®
forama 2 [Z = 96)

(1) [Rn] 5f7

(2) [Rn] 5f76d!7s?

(3) [Rn] 5f*6d'7s?

(4) [Rn] 5f1°

Na, Mg, Al G Si <t ¥eH IR
et (AH) %1 T FH 8

(1) Na>Mg> Al>Si

(2) Mg>Na>Al>Si

(3) Si>Mg>Al>Na

(4) Al>Si>Na>Mg

|
|
|
|
|
|
|
|
|
l
|
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119.

120.

121.

122.

The cotrect order of size of Ti, Zr and
Hf is

(1) Ti>Zr>Hf
(2) Hf>Zr>Ti
(3) Hf=Zr>Ti
(4) Hf>Zr=Ti

Which element among the following
have lowest value of ionic radius of its
tripositive ion ?

(1) Yb
(2) Dy
(3) Eu
(4) Ce

The electronic configuration of

Curium ion (Cm*?) [Z = 96] is
(1) [Rn] 5f7

(2) [Rn] 5t76d7s?

(3) [Rn] 5f*6d!7s?

(4) [Rn] 5£1°

The correct order of first ionization
enthalpies (AiH) of Na, Mg, Al and Si
is

(1) Na>Mg>Al>Si
(2) Mg>Na>Al>Si
(3) Si>Mg>Al>Na
(4) - Al>Si>Na>Mg



123.

124,

125.

126.

[Z=117] 91 O T TIH 3719 Frof
< Torer e & g e 9

(1) FeRH

(2) & ey emgd
(3) 3pe i

(4) &R urgg

THIY SHHTh [Z = 57] STeT ol
(1) s-sATs
(2) p=i
(3) d-=Ti

(4) IepEiE

frefeaRea awl & wed g ey wem
EAKHELEE

(1) P<Si<Be<Mg<Na

(2) P<Si<Mg<Na<Be

(3) Na<Mg<Be<Si<P

(4) P<Si<Na<Be<Mg

TR el 6 e i, el qen
T Soft 7 Iufer avel 1w 2

(1) Ag, Au, Y

(2) Ag, Cu, Au

(3) Y, W, Sc

(4) Fe, Tc,La

124,

125.

| 123. The element [Z = 117] would be

placed in which family of the periodic
table ?

(1) Halogens
(2) Alkaline earth metals
(3) Noble gases

(4) Alkali metals

Element [Z = 57] is related to
(1) s-block
(2) p-block
(3) d-block

(4) Noble gases

The correct order
metallic  character
following elements is

of increasing
among  the
(1) P<Si<Be<Mg<Na

(2) P<Si<Mg<Na<Be

(3) Na<Mg<Be<Si<P

(4) P<Si<Na<Be<Mg

- The set of elements present in the -

second, third and first series of

transition elements respectively is
(1) Ag,Au, Y

(2) Ag, Cu, Au

(3) Y,W,Sc

(4) Fe, Tc, La

03



127.

128.

129.

130.

131.

03

AEAl w1 g al e
ofiefist &
(1) N*-, 0%, F, 8%
(2) Li*, Na*, Mg, Ca?*
(3) K*,CF,Ca?", 8¢
(4) Ba%*, Sr2*,K*, Ca?*
Tt SY FEATS 1 TE A @
(1) 0 >0,>0,>0,

= Je
@) 0,>0,>0,>0,

- 9L
(3) 0,>0,>0,>0,

s 2— +
4) 0,>0, >0,>0,

Prefefad 3 & i @ gafea 2 2
wftefist 3T Y A

1) No, VIR 2

2) O, v’ 3THId 1.5

3) CO? gmad i Bepifim - 2

4) NO; _Hﬂﬁ?ﬂ“ﬁ 1.5

BrFSEH‘{I,ﬁaT@ﬁT%

(1) o Frae

(2) JEHTHE

(3) =it fitfrdm

(4) Tepim R

0, S qT Se Y W et wfedl Udeht
1 T2 F ]

(1) O>8>8e

(2) S>Se>0

(3) Se>0>S$

(4) S>0>Se

130.

|
|
I
|
|
| 131.
|
|
!
|
|
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127.

128.

129.

The set of ions having isoelectronic
species is

(1) N*, 0%, F, 8%
(2) Li*, Na*, Mg?*, Ca**
(3) K, Cr, ca?t 8¢
(4) Ba*t, Sr¥*, K%, Ca?*

Correct decreasing order of bond
length is

2- - +

(1) 0r >0,>0,>0,
@) 0.>0,>0,>0,
= 2—

3) 0,>0;>0,>0,

= 2- +
4 0,>0, >0,>0,

Which of the following is correctly
matched ?
Species Shape Bond
order
) NOE ‘V’ shaped 2
(2) O “V’ shaped 1.5
2-  Planar 2
3) CO
@) £ triangular
(4) NOE Planar 1.5

The shape of BrF; molecule is

(1) Square planar

(2) Octahedral

(3) Square Pyramidal
(4) Trigonal Pyramidal

The correct order of first electron gain
enthalpy of O, S and Se is

(1) O>S>Se
(2) $>Se>0
(3) Se>0>S
(4) S>0>Se



132.

133.

134.

135,

136.

Frefirfaa 3 & s ofigfis 2 -
(1) CN-
(2) CO
(3) NO

4) 0
oo 2orgs Y 5ot & et =51 wear

ELE

(1) Agl> AgBr> AgCl/> AgF
(2) AgF> AgCi> AgBr> Agl
(3) AgC/> AgF > AgBr> Agl
(4) AgBr> AgF > Agl > AgCI
N, 31 Y 3mfa 3

(1) &

(2) V> - 3mpfa

(3) @Hac™ Grepivfig

(4) IATHART

HeTeh! T MU s7 |Ted 2

(1) sp <sp?<sp’

(2) sp=sp?<sp’

(3) sp>sp?>sp’

(4) sp? <sp <sp?

2.5 399 sy areTT T3 2
+ +

(1) N,,NO, 0,

(2) 0,,NO,CN-
+ +

(3) N,,CN-, 0,

(4) CN7,N,,N,

36

132.

133.

134,

135.

|
|
|
|
! 136.
|
|
|

Paramagnetic the

following is :
(1) CN-
(2) CO
(3) NO

4) 0,

species  among

The decreasing order of solubility of
silver halides in water is

(1) Agl> AgBr> AgC/> AgF
(2) AgF> AgCI> AgBr> Agl
(3) AgC/> AgF > AgBr> Agl
(4) AgBr> AgF > Agl > AgCI

The shape of N; ion is
(1) Linear

(2) ‘V’—shaped

(3) Planar triangular

(4) Octahedral

The relative bond strength of the
orbitals is

(1) sp<sp?<sp’
(2) sp=sp?<sp’
(3) sp>sp?>sp’
(4) sp?<sp<sp?

The triad having bond order 2.5 is
+ +

(1) N,,NO, 0,

2) 0,,NO, CN-
+ +

(3) N,,CN-, 0,

+
(4) CN°, N, N,
03



137.

138.

139.

140.

141.

03

a8 319] e 37 e grEgiee s
Siftra & fopa

(1) H;0,

2) H,0

3) H,0,

(4) H,0*

Srefta faerm o fgaastt 3T [Z = 26]
<1 SEEH AT B

(1) 2.84 BM

(2) 3.87 BM

(3) 4.90 BM

(4) 5.92 BM

+8 STTRITERTUT ST S STel HshHUI
i &

(1) Cd

(2) Ru

(3) Au

(4) Tc

fr=faRea @ i wivfi= 3
(1) INI(CN), >

2) NiCl)*

(3) [CoCl)*

(4) [CoF(*

NO,, NO; 37 NH, & TggisH & Ty
FHeTeh ST Tl ShUTT: &

(1) sp, sp® AT sp?

(2) sp, sp? qT sp’

(3) sp?, sp TAT sp’

(4) sp?, sp’ W sp

o B A S i et i TR S e W i

37

137.

138.

l 139.

140.

The molecule or ion in which
hydrogen bond will not be observed :
(1) H,0,
(2) H,0.

+
(3) H O,
4) H3O+

The magnetic moment of a divalent
ion in aqueous solution [Z = 26] is

(1) 2.84 BM
(2) 3.87BM
(3) 4.90 BM
(4) 5.92BM

The transition element
oxidation state +8 is

(1) Cd
(2) Ru
(3) Au
(4) Tc

exhibiting

Diamagnetic ~ species the

following is
(1) [Ni(CN),J*
(2) NiCL P>
3) [C0C14]2’
(4) [CoFg*

among

. The hybridization of atomic orbitals of

nitrogen in NO;, Nog and NH, are
respectively

(1) sp, sp> and sp?

(2) sp, sp? and sp’

(3) sp? sp and sp’

(4) sp?, sp’ and sp



142.

143.

144,

145,

146.

frafd stewada sfify amen wga
AR

(1) [Cr(H,0)¢]*

(2) [Mn(H,0),**

(3) [Co(H,0)**

(4) [Cu(H,0)¢)**
ffafea 3 @ trdm A 2

(1) Na,CuCi,

(2) Na,CdCl,

(3) K Fe(CN),

(@) K;Fe(CN),

SfR-wfem () RFw-amEErRe
(I11) =1 &t freqor @

(1) [Pt(NH,),] [Fe(CN),]

(2) [Pt(NH,),]; [Fe(CN),]

(3) [Pt(NH,),] [Fe(CN),],

(4) [Pt(NH,),], [Fe(CN),],
frefifed 3 @ = s vper 2

(1) [Mn(CN),J*-

(2) [Fe(CN)4*-

(3) Co[(C,0,)41*-

(4) [MnCi3-

[CoCly(en),] SR Wefsfa wxTemaar w1
TR B

(1) wehIfmes

(2) sy

(3) A

(4) eRIRIe o St At

38

142

143,

144,

145.

. Complex ion with regular octahedral
geometry is

(1) [Cr(H,0)4**
(2) [Mn(H,0)**
(3) [Co(H,0)¢]**
(4) [Cu(H)0)¢]**

Colourless the

following is
(1) Na,CuCl,

(2) Na,CdCl,
(3) K Fe(CN),
(4) K;Fe(CN),

compound among

The correct representation of tetraamine-
platinum (II) hexacynoferrate (III) is

(1) [Pt(NH,),] [Fe(CN)]

(2) [Pt(NH,),]; [Fe(CN),]
(3) [Pt(NH,),] [Fe(CN),],
(4) [Pt(NH,),]; [Fe(CN)],

High spin the

following is :

(1) [Mn(CN)gJ*-
(2) [Fe(CN)4J*-

(3) Co[(C,0,),1*-
(4) [MnC/J*-

complex among

. The type of isomerism exhibited by
[CoC!z(en)z] is

(1) Optical
(2) Geometrical
(3) Ionisation

(4) Both Optical and Geometrical

03



147.

148.

149.

150.

03

Cr?*, Fe?*, Co?* T Cu?* 3R o
(1) 4,2,17910
2) 2,4,19910
3) 2,4,0qu11
(4) 4,4,37u11

TMFMBABR_ . nm BT |
(1) 18100

(2) 100 ¥ 1000

(3) 0.1810

(4) 00181

HOT T A4 T J TS

(1) wears |

(2) TR |

3) RrwaR|

(4) g S & R wea ? |

A1 [CoBr(NH,),(H,0)] (NO,), Wi

IUPAC 4 8

(1) Tl geE-siE-FEee (1)
e

(2) LTEHH-TET-S-FEEE (1)
TEge

(3) TS -hreTee
TEgE

(4) TfiEr-TET-FH-Hee  (I10)
e

(11)

|
|
|
|
|
|
|
|
|
|
|
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148.

149.

150.

| 147. The number of unpaired electron

present in Cr?*, Fe?*, Co?t and Cu?*
ion respectively is

(1) 4,2,1and 0
(2) 2,4,1and 0
(3) 2,4,0and 1
(4) 4,4,3and 1

The size of nano particles is between
nm.

(1) 1to100

(2) 100 to 1000

(3) 0.1to10
(4) 0.01to1

In nano form the melting point of
particles

(1) increases
(2) decreases
(3) remains constant

(4) increases then decreases

The IUPAC name of the complex
[CoBr(NH,),,(H,0)] (NO,), is

(1) Aqua tetraamine-bromo-cobalt
(III) nitrate
(2) Tetraamine-aqua-bromo-cobalt
(IIT) nitrate
(3) Tetraamine-aqua-bromo-cobalt
(II) nitrate
(4) Tetraamido-aqua-bromo-cobalt
(ITI) nitrate
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40





